
 from 7.2 (part 1):

6.  cos 195



from 7.2 (part 1):
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20.  cos cos sin sin
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  .  sin( ) sin( )x x

 from 7.2 (part 1):  Prove the identity



Today’s assignment:

7.2 (part 2)
#8, 9, 56, 10-14

28-36even, 55,57



8.  tan 165

Find the exact value:
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9.  sin

Find the exact value:
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56.   sin( )      

                        sin  = 

tan  = ,  in Quadrant 

,  in Quadr   an 

III

t IV

Evaluate each expression using the given 
conditions.
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CHECK EVEN ANSWERS (part 2)



The Greek 
Alphabet


